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01 Al&tl 500,000 190,000 310,000
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D AEEES A ¢ SAICIRRID

OLE0R TAIZZ ZE(FELXGMNL/XNALEAI)
CAZE X4 - 22l (=EC R
= = — N L=
22N "B G(S) - HPAY - BES 0l &t e HIRS2
OStZas=d 24 SA0Y
500,000,000& * 14! 500,000
2EUWEA SAMHSH =4 560,000 0 560,000
= 280,000
= 84,000
Al 196,000
401 AlZHI20HYI 560,000 0 560,000
s 280,000
L= 84,000
Al 196,000
01 Al&dl 555,000 0 555,000
OSKNMEIZSAZTE AAIZHYI
25,000,000 = 14! 25,000
= 12,500
= 3,750
Al 8,750
OSXNYEHSA LY SAHI
530,000,000& * 14 530,000
s 265,000
L= 79,500
Al 185,500
03 AlIE=0HbI 5,000 0 5,000
OsSAMEE3XxY S0Hl 5,000,0008 * 14 5,000
s 2,500
= 750
Al 1,750
SEANEE AME |X2el At 100,000 0 100,000
401 Al&HIZL R0 100,000 0 100,000
01 Al&dl 95,000 0 95,000
OZAIZEAIE RA&2 AL
95,000,000& * 1A 95,000
03 AlZ=S0HbI 5,000 0 5,000
OZAISEAE |A&2 R0l
5,000,000 14 5,000
AFelEd 272 g =4 100,000 0 100,000
401 A&HIZL SO0 100,000 0 100,000
01 Al&Hl 100,000 0 100,000
OX&EelE ARI2EEHITE A&
100,000,000& * 14 100,000
SE=X JI2HE+E Y 400,000 500,000 100,000
207 IR 400,000 500,000 100,000
01 HEAH| 400,000 500,000 A 100,000
OBA=K JI=NE S
400,000,000& * 1A 400,000
EANEE sX2el 601,698 201,706 399,992

_14_




= AMEAR SM : SAICIXRRI D
M OlE0E TAYE ZE(FELNANL/NALEA)
S9l: CAIBR x4 - e (S5 &2

AR .24 BY - B(E0) - ARAY - BaS of &t e HI DS
101 24| 362,026 70,706 291,320
10 JIZH22NSEs 362,026 70,706 291,320
Ok AlZelsd 2 23,306
SUL== 40,600 * 2 * 230& 18,676
oFmad 40,600% * 22 * 46 3,736
S AUPNE=S 40,6002 * 28 « 11 894
OZAIZd =4 2 FH|l 248,720,000& * 14! 248,720
Osds sd&c A& 90,000,000& 14! 90,000
201 LBty 93,572 9,000 84,572
01 AtR2eld| 27,170 9,000 18,170
Oget=gH| 22,220
oEEE M= HH 2,000,000& * 14 2,000
oXZFAS 2N 7
30,000& *2& 128 720
o=0lAE AHEHE =28
19,500,000 = 14 19,500
OfIE n=t| 500
SO 2l0lAlE & 2te] WHH|
500,000 * 14 500
Oogxz 2,000
oZ@ el FHl BX= 1,000,000 * 23] 2,000
O=2g=¢ 0
Oul =t 2,450
oZ&ete| =] 350,000& * 7& 2,450
02 S&234H| 66,402 0 66,402
O33a2= % MAl 18,902
oIz Mot=E2(7THA)
16,602,0002 14 16,602
oEZ&= el 1,000,000& * 14 1,000
o0l 2tHAIE 282
1,300,000 = 14 1,300
OAI2 EHI= X 47,500
ocHSLLR2AL SR
40,000,000& = 14 40,000
oXted & AMEHHIRF
7,500,000 * 14| 7,500
206 T E2H 130,000 90,000 40,000
01 M=Hl 130,000 90,000 40,000
Os&d&cl 2d+= F&  20,000,0008 * 14| 20,000
Ozx=Ss2el HE 2 110,000
oHIZ HHALE , s2f P&
10,000,000 = 14 10,000
o2, & +#Y 50,000,000 * 14| 50,000
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A= HEEE= A 1 SAICIRR!I Dt
FH: OISU2 TAIZ2 (S ELXNSIMNL/KALTAI)
=52 TASE &d - 22l (el &)
- _ — Pl
AR RN ZH - (EH) - NRAY - BES 03] &k o8 St BlRE2
o ZRAE BE=IM Y
50,000,000 = 14! 50,000
305 Hiat=ss 3,000 3,000 0
01 BHa=s 3,000 3,000 0
O&oia2 3,000,000& * 14 3,000
405 KHoHESHI 13,100 29,000 A 15,900
01 I EEFH S 13,100 29,000 215,900
OXtet & SSFH S| 13,100
o= 2 300,000& * 10CH 3,000
oXMEI| 2¢ 700,000& * 2CH 1,400
=JIAE 7Y 600,000& * 2CH 1,200
OXIYRE OIF MPE [
1,500,000& * 3CH 4,500
oGRS 2 3,000,000&  1CH 3,000
CANSE X4 - 2l 2E3H| 6,800 6,500 300
202 0ddl 6,800 6,500 300
01 2LH LI 6,800 6,500 300
OZANBAZH FA0Y| 6,800,000 » 14 6,800
SAEE z2tel 1,965, 144 1,381,000 584,144
FHXIE DAY 152,000 0 152,000
401 AlZHI20HYI 152,000 0 152,000
01 Al&tl 150,000 0 150,000
OZZXZHEX A& 150,000,000& * 14 150,000
03 Al&S0HHI 2,000 0 2,000
OZ2XHEX] AIZ204H] 2,000,000& 14 2,000
IZ2AE=S HEIAY 400,000 0 400,000
401 AABIZ R0 400,000 0 400,000
01 Al&tl 400,000 0 400,000
O o & SAXIIZEAIE Fb|
400,000,000& * 14! 400,000
TEAEE FA 2 1,409,744 1,381,000 28,744
201 Zet23d] 924,744 861,080 63,664
02 B2==24l 924,744 861,080 63,664
O322= 2 HA 920,000
o2d JI28 &JIZ 350,000,000& * 14 350,000
og8HE Bots M|z
570,000,000& * 14! 570,000
OAIERHIS X ] 4,744
oXFAL HIIOHE FZH
4,744,0002 * 14! 4.744
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A= HEEE= A ¢ SAICIRRID
M OIEUE2 TAZE ZE(RELXNIANL/XALEAI)
CHel: A=Y 2| (et &3
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
401 Al&HIZL R0 485,000 519,920 A34,920
01 Al&HI 480,000 509,920 A29,920
OZ&XGANEE E= 10,000,000 * 14 10,000
Oz - Bets)|+ SXNE+ 280,000
o X Wi 40,0002 = 3,00000 2 120,000
= otEJ| WXl 50,000& = 1,2000H 2~ 60,000
oSJI+ Wi 500,000& * 100942 50,000
o=&IEI| WH 100,000& * 50004 2 50,000
OL= =EII28 T4 200,000& * 200002 40,000
OJ28 FH8MA B2 5,000,000& » 10002 50,000
OJtz - 2ots 88| E=
2,500,000& * 20042 50,000
O=ots a4 1,000,000& * 5004 2 50,000
03 Al&S0HHI 5,000 10,000 /5,000
OJtzs, 2es |X2el AIL20HI
5,000,000& » 14! 5,000
SAI=HE 2] 23 3,400 0 3,400
202 O4Hl 3,400 0 3,400
01 =UWxHl 3,400 0 3,400
OZAIZZ 22| ABFE o
3,400,000& * 14 3,400
Z1E e - 22 122,880 360,700 A237,820
=2Z1= 2 ANES 22 118,380 107,500 10,880
101 @1AH| 53,000 33,300 19,700
10 JIZtNI22sSE =+ 53,000 33,300 19,700
Osg&d1sE d==XAt & EH|
53,000,000 * 14l 53,000
201 e 5,380 13,100 AT,720
01 AtSZelt| 4,000 12,500 28,500
Oget==&H| 4,000
oZHUHEHIAIY S22 MH
4,000,000& » 14 4,000
02 S22l 1,380 600 780
OZ22= ¥ HAl 1,380
oEHZ= | HydEE=
1,380,000& * 14| 1,380
307 gI2to|d 24,000 26,000 A2,000
05 QIZtRAESF 24,000 26,000 A2,000
O=2dZdnsE HME2A 6,000,000& * 43| 24,000
401 A&HIZL SO0 30,000 30,000 0
01 Al&HI 30,000 30,000 0
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D AEEES A ¢ SAICIRRID

OIS0 SAZS ZE(ZELXYGMNY/XNELTAI
= e - 22|

- _ - &4
AERE ZRE-ERI=CICE DR EINRE:RoE Ofl &t 24 St HImE2
O =AM WA & 24 AIESAHY
30,000,000 * 14| 30,000
405 KHabH =8| 6,000 5,100 900
01 NS SFSHI 6,000 5,100 900
O=sgZls 3dl 34l 7¢
300,000& * 207K 6,000
202 Hd - 22l 23| 4,500 3,200 1,300
202 O4H| 4,500 3,200 1,300
01 =LHNbI 4,500 3,200 1,300
OZHEINE ALY A=A 08|
4,500,000& * 14 4,500
HHE2AZHI(ZAICIXQI) (D1EHJIE}) 47,256 52,652 Ab,396
el 2| 4,200 4,200 0
el 2| 4,200 4,200 0
203 g4 4,200 4,200 0
04 FA2IERFI| 4,200 4,200 0
OFNESHRFA 350,000& * 122 4,200
Jl23Hl 43,056 48,452 25,396
Jl122ZH 43,056 48,452 25,396
201 Ler2 | 31,856 27,152 4,704
01 AtR2teiHl 31,856 27,152 4,704
Oget==2H| 23,072
CHINRES 500,000& * 123 6,000
oan2aHH| 200,000 * 43 800
SMBIINAZE 1,000,000& = 123l 12,000
oAREEAAYHI 2,000,000 = 14| 2,000
opEA== 12,0008 * 35 » 12& 432
oJ|Et=EHI 1,840,000 = 14 1,840
Ogxz 720
odJ| BXZE 60,0008 * 122 720
Osgl 8,064
oJllzgfsdaal 8,064,000& * 14| 8,064
202 O4dl 7,700 10,800 A3,100
01 =WHHI 7,700 10,800 A3,100
OJ=dR+=~0id| 7,700,000& *14] 7,700
405 Kok =4 3,500 10,500 A7,000
01 I ESFH S 3,500 10,500 A7,000
OEAZZ JISE HILILt e
3,500,000& = 1CH 3,500
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© ot Mool (SSE MU /THLFEIH - 012t9])
. ot& &b CEREE)

H

- _ — Pl
CERA B G(SH) - NRAY - BAS 0] &k o8 St dImE=ET

=

=

32,761,421
2,947,599
2,993,056
1,300,000
1,286,479

24,234,287

48,833,061 /16,071,640

= n R =T

5,946,377
2,947,599

514,000
2,484,778

5,256,878 689,499

S| 5,946,377
2,947,599

514,000
2,484,778

5,256,878 689,499

> n H

ol & SRIHE ALY 3,300,000 0
1,980,000
264,000

1,056,000

3,300,000

> n H

401 AIEHIZSOHYI 3,300,000 0
1,980,000
264,000

1,056,000

3,300,000

01 Al&Hl

O SAI&HH L ALY
3,300,000,000& = 14]

3,300,000 0 3,300,000
3,300,000
1,980,000

264,000
1,056,000

> n H

AotE ZH 1,627,377 985,878 641,499

967,599
659,778

=

401 AIEHIZSOHYI 1,627,377 985,878 641,499

= 967,599
Al 659,778

01 Al£HI 1,607,377 976,878 630,499
O Al&dl & &AIZAHI
1,607,377,000& = 14! 1,607,377

= 957,599
Al 649,778
03 AIZ20HHI 20,000 9,000 11,000
O A2 20,000,000& = 14! 20,000

= 10,000
Al 10,000

ol

te - AoHE =2 HI S =0l 0l 2 AL 215,000 210,000 5,000

201 LEr2d

15,000

10,000

5,000

01 A2kl

15,000

10,000

5,000




P AuER

M M MY (SSEML A /T - e1)

&2l St EHI

= — N L=
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
Ootd el ZHgx= 15,000,000& » 14 15,000
401 Al&HIZL S| 200,000 200,000 0
01 Al&HI 200,000 200,000 0
Odtd Aotd HBI4000 £
200,000,000& * 14 200,000
ot &EHl 23 & 4,000 3,000 1,000
202 0ddl 4,000 3,000 1,000
1 =LA 4,000 3,000 1,000
Oote ZHIAt =& 4,000,000& * 14! 4,000
HEA (A6t )| 200,000 0 200,000
401 Al&BIZ =208 200,000 0 200,000
01 Al&HI 200,000 0 200,000
OHEA EH| 200,000,000& * 14! 200,000
XeaHa (I8 H)E ol 100,000 0 100,000
1T AIZHIZ SO0 100,000 0 100,000
01 Al&HI 100,000 0 100,000
OdtE & H| 22IH 4 100,000,000& * 14 100,000
oIS (ES)otE Hb] 500,000 0 500,000
< 250,000
Al 250,000
401 Al&BIZ =208 500,000 0 500,000
= 250,000
Al 250,000
01 Al&dI 500,000 0 500,000
OZ Al (3JH2) 500,000,000& * 14 500,000
< 250,000
Al 250,000
=2 ZMH AN (YL = - &) 3,203,820 3,138, 160 65,660
s 1,863,056
L= 38,479
Al 1,302,285
S| =5 811,320 1,086, 160 A274,840
s 649,056
< 38,479
Al 123,785
JHBEZ SHEEAY 416,320 416,320 0
s 333,056
= 24,979
Al 58,285
401 Al&HIRH S0 208,160 416,320 208,160
s 166,528
< 12,489
Al 29,143




dAg@d= FA A8
SO AW YS(SPHY AL/ 5Y - 55)
SSPIEEES EERED
- _ - &4
224 B ORA(3) - MRAY - BES St HImE2
01 Al&Hl 208,160 414,320 2206, 160
O JIHEBAZ SEE SAI
208,160,000& = 14 208,160
fas 166,528
S 12,489
Al 29,143
403 XM SA=01H 208,160 0 208,160
= 166,528
= 12,490
Al 29,142
02 SIASOICHeCH A 208,160 0 208,160
OJIHEZB A2 2L SAH
208,160,000& = 14 208,160
= 166,528
S 12,490
Al 29,142
SHEHBIS O AL 225,000 60,000 165,000
= 180,000
= 13,500
Al 31,500
401 Al EHIZ LY 225,000 60,000 165,000
[ 180,000
= 13,500
Al 31,500
01 Al&Hl 225,000 60,000 165,000
O steiitlES+Ig SAtl
225,000,000& * 14] 225,000
= 180,000
[ 13,500
Al 31,500
SE sPYESINLAMY 170,000 0 170,000
[ 136,000
Al 34,000
401 AlZHIZL LY 170,000 0 170,000
[ 136,000
Al 34,000
01 AlZHI 170,000 0 170,000
SEE=JHE SAEl 170,000,0003 * 14| 170,000
[ 136,000
Al 34,000
sPAERX 2 658,500 603,000 55,500
FelAE e+ 360,000 200,000 160,000
401 Al EHIL LY 360,000 200,000 160,000
01 Al&Hl 360,000 200,000 160,000
O==clAl&2I&o & 300,000,000& * 14] 300,000
OA8 &I 1,500,000& = 40744 60,000
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a=: AgsAI SN ALD
H: = AW YSHSBHYSL/5Y - 5X)
&l SYALERR2e (et &3
= - — N L=
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
2F Y AT H| S A2 40,500 50,000 A9,500
201 LEr23H| 10,500 0 10,500
01 AtR22ltl 10,500 0 10,500
OHgz2I (saE8)+=23A
150,000& * 70002~ 10,500
401 Al&BIZ R0 30,000 50,000 A20,000
01 Al&dI 30,000 50,000 220,000
OUEBE o Y+TH B4
300,000& * 1000H 2 30,000
sSAE RAE=> 200,000 250,000 250,000
403 XHXIHMSA=01E 200,000 250,000 250,000
02 S| 2SHCHECHE ALY 200,000 250,000 50,000
O =clAlZ JHE=At  200,000,000& * 14! 200,000
sSAE 7X2el 23] 3,000 3,000 0
202 O4Hl 3,000 3,000 0
01 =U0bl 3,000 3,000 0
OsgAMEFX 22| AFE=E 0]
3,000,000& * 14 3,000
Qs AT ME 2 =2 LIS A 55,000 0 55,000
401 Al&HIZ R0 55,000 0 55,000
01 Al&HI 55,000 0 55,000
O===Z &l A&t 55,000,000& = 14! 55,000
SEMED|BtEE 1,734,000 1,449,000 285,000
s 1,214,000
Al 520,000
SEYFI|EESAIY 1,091,000 1,449,000 /358,000
s 764,000
Al 327,000
401 A&HIZL SO0 1,091,000 1,449,000 /358,000
s 764,000
Al 327,000
01 Al&dI 1,091,000 1,439,000 348,000
O AAZHH L ZA
1,091,000,000& * 14 1,091,000
s 764,000
Al 327,000
MRS LAY 643,000 0 643,000
s 450,000
Al 193,000
403 XXIHHMSX=01H 643,000 0 643,000
s 450,000
Al 193,000




AR ALH
B =0 AR Aol
CHol: SEMED|BIEE

= — N L=
AT RA - FHSA(EH) - ARAY - BES 0l &t e HIRS2
02 S| 2SOICHSCHEE At I 643,000 0 643,000
O HACISEZEMY sESAHE
643,000,000& * 1A 643,000
= 450,000
Al 193,000
CEIEY SHE(+SLUE/C2) 10,874,000 26,114,000 A 15,240,000
= 680,000
= 1,300,000
< 676,000
Al 8,218,000
AMA=ZE L ANEAHE 200,000 1,500,000 21,300,000
L= 200,000
LLSSH=HOHIEYE =244 200,000 0 200,000
= 200,000
401 A&HIZL R0 200,000 0 200,000
< 200,000
01 Al&Hl 200,000 0 200,000
O &AIZHHl & SAkHl L=0.5km
200,000,000& * 14 200,000
< 200,000
o ¥ SHEZZAHE 5,402,000 14,003,000 /8,601,000
< 100,000
Al 5,302,000
2ZEIC AZB 24 4,300,000 10,000,000 25,700,000
Al HI LR 4,300,000 10,000,000 25,700,000
01 Al&H] 3,890,000 9,398,000 /5,508,000
OCE]H/\‘! OI | I.E }\ll\-l
3,890,000,000& * 14 3,890,000
02 Zcltl 400,000 572,000 A 172,000
OoxLelsd 400,000,000& * 14! 400,000
03 AlZ=S0HbI 10,000 30,000 220,000
OAlI&R0HHI 10,000,000& » 14 10,000
FE-EEHFE21018H ) sHECZELRE 300,000 300,000 0
1 AZHIZ S8 300,000 300,000 0
1 A&l 297,000 300,000 A3,000
OEZ&ZE |=1.84Km 297,000,000& = 1A 297,000
03 AlZ=0HbI 3,000 0 3,000
O Al =0id] 3,000,000& * 14! 3,000
= HEZZHE 23| 2,000 3,000 21,000
202 O4Hl 2,000 3,000 21,000
01 2B 2,000 3,000 A 1,000
O2EYsHETZHE A FA o]
2,000,000& » 14 2,000
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A= AP S ALD
U C2NSY HE(LBLDS/EE)
2o 25 ¥ sHEZZAHE (&2 & &)
= - — N L=
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
TE6SH(HEE MYZ)ZEHIA 100,000 0 100,000
401 Al&HIZL R0 100,000 0 100,000
01 Al&HI 100,000 0 100,000
OEZ2EH(=2.0Km 100,000,000& * 14l 100,000
TEESHE(ZHAIASEY) ASHXISA 200,000 0 200,000
401 A&BIZ R0 200,000 0 200,000
01 Al&HI 200,000 0 200,000
OCIE 4 Xl L=0.23Km 200,000,000& * 14! 200,000
2 =s(2068H)s0HEER SZH A 50,000 0 50,000
401 A&HIZL S| 50,000 0 50,000
01 Al&dI 50,000 0 50,000
OS2 EE A 50,000,000& * 14 50,000
HMS2(2068H) sHE S2EHIA 100,000 0 100,000
401 A&HIZ =20 100,000 0 100,000
01 Al&dl 100,000 0 100,000
O AAMEHES € E22d
100,000,000 & * 14 100,000
THOHE(01eH) sHEEZZ SEIIZA 100,000 0 100,000
401 AABIZ R0 100,000 0 100,000
01 Al&HI 100,000 0 100,000
O AAMEHES & E22d
100,000,000 & = 14 100,000
T8N E2EE AL 50,000 0 50,000
401 Al&HIRH S0 50,000 0 50,000
01 Al&HI 50,000 0 50,000
O S2&M=2)] 50,000,000& * 14 50,000
erifts=Ed 200,000 0 200,000
L= 100,000
Al 100,000
401 A&HIZ =20 200,000 0 200,000
= 100,000
Al 100,000
01 Al&HI 200,000 0 200,000
OQroIntSetd St ZH I AL L=1.5km
200,000,000& * 14! 200,000
L= 100,000
Al 100,000
SZAE =5 3,922,000 10,461,000 26,539,000
s 680,000
=2 1,300,000
= 376,000
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A= AP S ALD
M C2USY HF(+3LUS/E2)
CHel: S2AE &5 (el &)
= = — N L=
AT RA - FHSA(EH) - ARAY - BES 0l &t e HIRS2
Al 1,566,000
NEHEZ A 1,300,000 1,210,000 90,000
= 1,300,000
401 AIAHILLHY] 1,300,000 1,200,000 100,000
= 1,300,000
01 Al&| 1,300,000 1,195,000 105,000
OAAEHE L BAH
1,300,000,000& * 14 1,300,000
= 1,300,000
A2 IHE AL 346,000 340,000 6,000
s 173,000
Al 173,000
401 Al&HIZ =20 346,000 340,000 6,000
s 173,000
Al 173,000
01 Al&HI 346,000 340,000 6,000
O &AIZHHl ¥ ZAEl  346,000,0002 * 14! 346,000
s 173,000
Al 173,000
WSADRSRHHS 40,000 48,000 28,000
s 20,000
Al 20,000
401 Al&HIZ =20 40,000 48,000 28,000
s 20,000
Al 20,000
01 Al&dl 40,000 48,000 A8,000
O &AIZHHl ¥ ZAEl 40,000,0002 * 14! 40,000
s 20,000
Al 20,000
olRlolEE el 974,000 1,328,000 354,000
s 487,000
Al 487,000
401 Al&HIZ R0 974,000 1,328,000 354,000
s 487,000
Al 487,000
01 Al&dI 974,000 1,328,000 354,000
O &AIZHHl ¥ ZAEl 974,000,0002 * 14! 974,000
s 487,000
Al 487,000
TOIOHIE=H S Z E Y| 140,000 48,000 92,000
L= 70,000
Al 70,000
401 A&HIZ =20 140,000 48,000 92,000
L= 70,000
Al 70,000
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CRNEY HE(+SLUE/ER)
S2ANE =S (&2 & &)
= - — N L=
2. 2A - FH . ER(ED) - NRAY - BES 0l b e Rz
01 Al&HI 140,000 48,000 92,000
OZQI0HIIESH SZ EH|
140,000,000& * 14l 140,000
< 70,000
Al 70,000
R0 M2 HEH 20,000 68,000 248,000
< 6,000
Al 14,000
401 A&HIZL S0 20,000 68,000 48,000
< 6,000
Al 14,000
01 Al&HI 20,000 68,000 48,000
O3 Al L=100m, B=3~4m  20,000,000& * 14 20,000
< 6,000
Al 14,000
CEALES 2 2,000 2,000 0
202 O4Hl 2,000 2,000 0
01 =UWObI 2,000 2,000 0
OZZAE=E AHFE O
2,000,000 » 14 2,000
grak2el~3el OS2 n® 100,000 0 100,000
401 A&HIZL SO0 100,000 0 100,000
01 Al&dI 99,000 0 99,000
OEXZ &L S A 99,000,000 * 14! 99,000
03 Al&S0HHI 1,000 0 1,000
OAIE R8I 1,000,000& * 14 1,000
Bo~AA 2L EZ2IE DAL 400,000 0 400,000
< 200,000
Al 200,000
401 A&HIZL SO0 400,000 0 400,000
L= 200,000
Al 200,000
01 Al&dI 400,000 0 400,000
O3 AHd] L=0.5km 400,000,000& * 14! 400,000
< 200,000
Al 200,000
ADIUGHAO| Ot S2EE & WEAEXIZA 200,000 0 200,000
401 A&HIRH S0 200,000 0 200,000
01 Al&dI 200,000 0 200,000
O s2Z& & WEAX 200,000,000& = 14! 200,000
SSX7 FSWEXISA 300,000 0 300,000
401 Al&HIZL =20 300,000 0 300,000
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A= ARBYR SN AR
Y CENSY HE(+BLDS/EE)
ool CRAM EE (=E R E)
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
01 Al&dI 300,000 0 300,000
O W& 300,000,000& * 14! 300,000
SHNEANEZHL 100,000 0 100,000
= 100,000
401 Al&HIZL R0 100,000 0 100,000
L= 100,000
01 Al&HI 100,000 0 100,000
O ZAtdl [=2.5km 100,000,000& * 14 100,000
= 100,000
0IME DIRGHA 1,350,000 150,000 1,200,000
FOIME DR (SHS) 1,350,000 150,000 1,200,000
401 A&HIRH S0 1,350,000 150,000 1,200,000
01 Al&dI 1,350,000 150,000 1,200,000
O =& 93 T2FHHIALY
70,000,000& = 14! 70,000
O 2&1-2c| OISsAZEZ
50,000,000 = 14! 50,000
O M7I0l o=t ZF 50,000,0008 * 14 50,000
O d=cl dA=SXME M2 SEHIA
50,000,000 * 14! 50,000
ORI InR=PIER TI[=£F:]
20,000,000 * 14! 20,000
O 2uts 58+ A8z HEAE
30,000,000 * 14 30,000
O Ells 322 72 A== HE=S
20,000,000 = 14! 20,000
O EUs-gatz IS XA
50,000,000 * 14! 50,000
O 2&. ZS0HEY A WXHSA
50,000,000& * 14 50,000
O etelti=sel o=tz E|
300,000,000& * 14! 300,000
O E&Z 2&FH| 100,000,000& * 14! 100,000
O ZEs&EXY FooIAoHA
200,000,000& = 1A 200,000
O HMidl1~22| oSt 2 &
60,000,000 * 14! 60,000
O UMD ASEHLT2HM
100,000,000& * 14! 100,000
O JIEt ZOIMSBRIATA At
200,000,000& = 1A 200,000
£2 AN (+ELNS/ER) 1,953,420 6,251,483 A4,298,063
FTEESHETZ RAUES 300,000 400,000 A 100,000
T - sHEEZZ RAES 200,000 200,000 0
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CRA - EHB R (BH) - HRAY - B e HIRS2
401 A&HIZ =20 200,000 200,000 0
01 Al&H| 200,000 200,000 0
OaAEHES & T2+
200,000,000& * 1A 200,000
TELSHETZ =224 100,000 200,000 100,000
401 Al&BIZ 0] 100,000 200,000 100,000
01 Al&t| 100,000 197,000 £97,000
O 2¢=g 2 X224 100,000,008 * 14! 100,000
S22 Y| ,082,000 ,354,500 A4,272,500
AIJHX E23H| & B+ 200,000 442,500 A242,500
101 Q1| 15,000 12,500 2,500
10 JIZtHI22XsE = 15,000 12,500 2,500
O&E=2H M=&Y 2128 15,000,0008 * 14! 15,000
401 Al&HIZL =20 185,000 430,000 A245,000
01 Al&HI 185,000 430,000 A245,000
OaAEHES & =25 HH|
185,000,000& * 14l 185,000
2L EAHOIALE A 200,000 100,000 100,000
401 AABIZ R0 200,000 100,000 100,000
01 Al&HI 200,000 100,000 100,000
O FolA9fol A 200,000,000& =14l 200,000
S22 HXEEY| 50,000 100,000 50,000
401 AlZHI 2] 50,000 100,000 50,000
01 Al&H| 50,000 100,000 50,000
O S EXE Fd| 50,000,000& * 14 50,000
e A2 100,000 100,000 0
401 A&HIZ =20 100,000 100,000 0
01 Al&H| 100,000 100,000 0
OuERAEs 5IHA 100,000,000& * 14l 100,000
L2HAZANE (=2 - )R XES 100,000 300,000 A200,000
401 A&BIZL R0 100,000 300,000 A200,000
01 Al&tl 100,000 300,000 A200,000
OEAEHESR & =2 NERAES
100,000,000& * 14! 100,000
LA EXEY 100,000 150,000 A50,000
401 AlZHIZ 2] 100,000 150,000 A50,000
01 Al&Hl 100,000 150,000 /50,000
OEXN LS4 100,000,000& * 14 100,000
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- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
C2HH 2F & 2,000 2,000 0
202 o4l 2,000 2,000 0
01 =U0bl 2,000 2,000 0
O=ZHH| AME=& Ol 2,000,000& 14 2,000
W= EF22ZZA 200,000 0 200,000
401 AIEHIZSOHYI 200,000 0 200,000
01 Al&HI 200,000 0 200,000
OuxIX ¢ w2otFAH|
200,000,000& = 14 200,000
U NEHLEE EY 30,000 0 30,000
401 Al&HIRH S0 30,000 0 30,000
01 Al&HI 30,000 0 30,000
O WEeHHEAICH J|2 XA Y|
15,000,000 * 2JH 2 30,000
ANgis 240 458+ E2HEZA 100,000 0 100,000
401 A&HIZL SO0 100,000 0 100,000
01 Al&HI 100,000 0 100,000
O 2AIZH £ =244 100,000,0008 * 14! 100,000
TZHE 2 571,420 496,983 74,437
CE2MEEY 415,720 278,603 137,117
201 LEr23H| 204,720 126,603 78,117
01 AtS2elH| 152,700 111,990 40,710
O= gt 4,200
oM&EXS =4l 4,200,000& = 14 4,200
Ogxt= 148,500
oMAERAALIA LIS Z)
150,000& * 902  8CH 108,000
oHMIEXAASLIN JXH(Y0IH)
180,000& * 90 = 2CH 32,400
oRM&EXAALIIA LXHEZH)
90,0002 * 90 =1CH 8,100
02 S22l 52,020 14,613 37,407
OAIEEBIS Xt 52,020
oMAHH =FO 15,000£« 3& » 1,156& 52,020
206 M=Hl 104,000 147,000 A43,000
01 MH=HI 104,000 147,000 A43,000
O H&s datzs 20,000& = 1,500 30,000
O MENRES ADH oY P
500,000& * 404 20,000
OM&EXgs tdd+ 2,000,000& * 14! 2,000
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P A=EBR

>

FH: £2 AU (+SLNS/E2)

Chel: EZ2HE 2t

.24 HB - G9(S) - ARAY - BES ofl &t e HIDE2
OAIX E22+&E X 37,000,0008 * 14| 37,000
O A 10,000& = 1,500m 15,000
305 Bie=S 5,000 5,000 0
01 that=S 5,000 5,000 0
ON&Rg QU2tolulal tia=
5,000,000 * 14 5,000
405 Kok =4 102,000 0 102,000
01 I ESFH S 102,000 0 102,000
O gEmERAE Ha 47Y
13,000,000 * 4H 52,000
ORefa=) 2 50,000,000 * 14| 50,000
CRMEHG(EHS) 185,700 68,380 87,320
201 &er=gHl 128,200 38,850 89,350
01 AtR2tcIbl 100,000 30,250 69,750
OSHsS MEexd(S4Hl - ZHIYR)
100,000,000 * 14! 100,000
02 E3=23Hl 28,200 8,600 19,600
OSHsS NEXY(RAH & 774l )
8,200,000 * 14| 28,200
302 OIF=, a2 &= 27,500 29,530 A2,030
02 Q2T 2at= 27,500 29,530 A2,030
ORSRIQIE0] pI2tel AlY]
25,000,000 * 14 25,000
ozl Mexy SAYH RF
2,500,000 * 14 2,500
FHAX NS (FELXGMNL/XNALEAI) 1,074,147 887,790 186,357
= 450,000
= 58,000
Al 566, 147
QRRY 643,000 614,200 28,800
= 450,000
& 58,000
Al 135,000
ASSHLA 643,000 614,200 28,800
[ 450,000
= 58,000
Al 135,000
401 Al EHIZ LY 643,000 614,200 28,800
[ 450,000
= 58,000
Al 135,000
01 Al&HI 627,000 609,200 17,800
O &AIZHHl & SAHl  627,000,0008 * 14! 627,000
= 438,800
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JALE
{QFXI JHE(
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KIo
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10,000

1,000

157,557

A8,054
N378
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NT,676

25,000

N2,676

A350

650
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LH3r
uid
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5,000

273,590

30,190

5,250
5,250
24,940

13,940

11,000

3,350
3,350
3,350

Ofl &k 24

oy

56,600
131,600
10,000
10,000

Al

rH

7,000

900
2,100
6,000
6,000
4,200

Al

e

500
1,300
431,147

Al

22,136
4,872
4,872
4,872

17,264

8,940
2,940

2,940
6,000

4,000
2,000
8,324
8,324

1,824
2,000
4,500
3,000
2,700
2,700

1,300
700
600

1,400

10,000,000& * 14!

g Zeldl

S
=]

=
=)

O 2X

02 Zeldl

6,000,000& * 14!

A&

s

o

s

=
[=)

O 2X

03 Al&ZSC0HHI

B0
0H
%0
%

&

KJ
K
RO
70
wl

40,6003 * 3% = 40¢!

Ab @124 H|

ikal:]
10 JIZtMI22 RS2+
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b

5
O-

01 At

-

<+
30
i

3

Faag
70,0008 * 7% * 6

3

=
=

2|

o &AHX2 7

=

ol

4,000,000& = 14
2,000,000& = 14

30
OH
[0
Mo

HIAl

al
=

o

[0
M0

2
odII=E

152,000& * 120HE
100,000& * 202X
300,000& * 152X

R0
70
8l
=
E)

2l

b

7
ok

01 At

100,000 » 7H
100,000& * 6

n0
o

TH

i~

1,400
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y=: AgeA= S ALD
M FHoX| N (RELXGINL/XNALE Al
o ALY 2% (e @
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
405 KHoHESHI 300 0 300
01 Tt = SF S 300 0 300
OtIzt=g 300,000& * 1CH 300
AEI1H 2F2el 296,818 77,350 219,468
201 YLEr23H| 96,518 77,350 19,168
01 AtSZeltl 14,000 11,500 2,500
Oget==&H| 3,500
oHEI|H £EAMN HAS HH
2,000& = 5000H 1,000
cAEIIAHSES ME 1,500& = 1,0000H 1,500
oMBAHYPSSESS & +=FHHA
2,000& = 5000H 1,000
O1l=Hl 500
cHEIIHRA M= 100,000& * 5% 500
OYxt= 10,000
oHAJ|HEH XtE  10,000,0003 * 14 10,000
02 32| 82,518 65,850 16,668
Os82= ¥ HMAl 6,590
od&J[H Ul BA= 60,000& = 7CH 420
o4 BE= 700,000& * 8CH 5,600
&I SFNEREE=
95,000& = 304 * 23 570
(OZNF=FSf=IEsIN ]| 75,928
cALEH REH 43,928
AL EHI(8U) 2=
4,750 4 = 8L + 1,156& 43,928
o= &Hl |l 32,000
AL ZHI(8U) 2L
4,000,000& * 8CH 32,000
401 AIEHIZLSOHYI 200,000 0 200,000
01 Al&HI 200,000 0 200,000
O ALIH FIIZAME &=
200,000,000& =14 200,000
405 XHatE SHI 300 0 300
01 ML =SS = 300 0 300
OCXE Jtoilet =& 300,000& * 1CH 300
BE2HE= 2F 56,953 115,400 A58, 447
101 @14H| 11,653 0 11,653
10 JIZtNI22sSE =+ 11,653 0 11,653
OJIZtNZ22AsS 24 ETHdES2F 21| 11,653
cHIALESF 2Rl 11,653
2= 40,6002 = 2302 « 1 @ 9,338
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y=: AgeA= S ALD
M FHoX| N (RELXGINL/XNALE Al
o ALY 2% (S5l &)
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
ES=pN= 40,6002 « 46 & * 19l 1,868
Xt 40,6003 * 11  1¢! 447
201 2et23d] 5,300 5,400 A 100
01 AtR2elt| 1,300 1,200 100
O Il=Hl 700
CHEALEE 2222 22=
100,000& * 7 700
OMNSELESE 600,000& * 14| 600
02 2324l 4,000 4,200 A200
Os32= ¥ MAl 800
cHEHLEZ HAER
100,000& * 2JH4 + 43] 800
@LK=:] 2,800
CHEAYS vy oiZY|
20,000 * 2004 » 70 2,800
OAIE & HIR XYl 400
cHEHLEZ AMERKIH
100,000& * 2JHA * 23] 400
403 [XIHHSAZ20IH 40,000 110,000 A70,000
02 S| 2SHCHECHE ALY 40,000 110,000 A70,000
OEZ2E=S MeEsS ASEEs
20,000,000& * 204 40,000
AEUHER2Y 2EEH| 52,240 47,300 4,940
202 o4l 50,740 45,800 4,940
01 =UWxHI 50,740 45,800 4,940
OALHISY MY Oft|
9,340,000& » 14 9,340
O28Ld34HERF o]
150,000& * 53 + 123 9,000
ONEIE 2523 0l
150,000& * 69 » 123 10,800
Odtd 2AIQ¥ Ol 150,000& * 798 » 12& 12,600
OALIIAHER oddl  150,000& * 59 » 123 9,000
203 HR=&H| 1,500 1,500 0
03 AIRMFAHRFEH| 1,500 1,500 0
OALHZAIMFL 1,500,000& * 14 1,500
HY2HAHI (AL D) (DIEHIIE 269,657 274,750 /5,093
QIR A| 242,037 240,856 1,181
QIR A 4,320 4,320 0
203 HRF=&H| 4,320 4,320 0
04 FEA2ILRFLHI 4,320 4,320 0
ORAM2EHRFA 360,000& = 123 4,320
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A= AsEY= S ALD
A HY2HAH(HLED)(DIEHIIE
el ol | (69 @2
AR RN ZB . CR(EA) - HRAY - BES 0l &k o8 e HlmE2
C2+Z AKX 237,717 236,536 1,181
101 Ql24H| 237,717 236,536 1,181
09 RIAHA2 2N E = 237,717 236,536 1,181
O3 = 83,076
oJllEgsg 742,000& * 78 « 128 62,328
o2EIHaZ 247,0008 = 78 » 123 20,748
O&03 37,422
oJ|2E 972,000& » 7H » 50% » 42 13,608
o&H2eY 972,000& » 7 = 50% * 23l 6,804
oSl 972,000& * 7Y x 50% * 5 17,010
(OFSELE = 21,000
SR E=y 5,880
- B A 30,0003 = 7 * 1.0 » 12& 2,520
= 20,0003 * 798 * 2.0 » 128 3,360
cExHRH 90,0008 = 798 » 123 7,560
oMHE ALY 30,000& * 78 * 128 2,520
oG 60,0008 * 78 » 123 5,040
O=cl= 4| 27,006
o FHMZAlY| 90,000& * 7% * 12& 7,560
S JHAHE I 110,000& * 798 » 123 9,240
oHAEFZOHl  972,000& * 7H » 75% * 23| 10,206
OxlZ2=g 30,738
o AZ2IRIZRY
4,6373& * 0AIZ2H » 7H  + 128 11,686
oS AR
48,600& * 798 » 32 * 128 12,248
ol X4 48,6003 * 7% * 20« 6,804
OXEStHIEZ S 2,851
=1 51,4003+ 7% * 0.35 » 43| 504
S =3=tam] 2,347
O1l=| 2,800
oMUS 80,000& = 7&H * 23| 1,120
o2 9 40,0003 * 798 = 13 280
o Ysts 120,000& * 798 » 13 840
ox J)| 20,0003 * 798 = 13 140
o X5t 20,0003 * 798 « 23| 280
o = 10,000& » 7% * 23| 140
O=3dz 23 199,297,000 * 4.5% 8,969
OHLEE 22 199,297,000& * 2.54% 5,063
OnEEE= 199,297,000& * 1.75% 3,488
OttHEEg = 199,297,000& * 5.17% 10,304




A= AgBAI SN AL
AN AHY2IZHI(ALE D) (IIEH/IIE)
el ol | CERE)
_ - PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
OElg S2&EL WSEH BX
2,500,000& » 2¢& 5,000
Jl=&l 27,620 33,8%4 A6,274
JIZ2&Hl 27,620 33,8%4 A6,274
201 Zet23d] 15,380 11,094 4,286
01 AtR22lt| 15,380 11,094 4,286
Oget==&H| 6,500
o4t 2,000,000& * 14! 2,000
CHIMRES E ARIDIARS
3,000,000& * 14! 3,000
oARB TAHIY U A2
1,500,000& * 14 1,500
O= et 8,400
ol|l=zY RS Al 8,400,000 14 8,400
OYxt= 480
oWz=J| U= 40,000& * 12& 480
202 0ddl 12,240 22,800 A 10,560
01 =UWObI 12,240 22,800 A 10,560
OJ=2g S04l 12,240,000& » 14 12,240
HWRES(HEW) (8L NE/E2) 9,440,000 6,910,000 2,530,000
RSN 9,440,000 6,910,000 2,530,000
EHE FAL o=+ 8,140,000 5,860,000 2,280,000
311 XL S0IRt&E 1,640,000 1,860,000 A220,000
02 Al -2+ 2XNSNLIIS XL SO0l XH&kE 740,000 960,000 A220,000
OHZE"2 A" =31 =7(2003) X+ SOl Xt
660,000,000& * 14l 660,000
OHZE"R A" ===+ (2004) X+ & SOl Xt
80,000,000& = 14! 80,000
04 SLHEIXUSOIXt&EE 900,000 900,000 0
OHZE"2 A" ==+ (2004) X+ SOl Xt
900,000,000& =+ 14 900,000
601 ML= =atE 6,500,000 4,000,000 2,500,000
02 Al -2 - 2NN SAL=E 4 4,000,000 4,000,000 0
OHS"2A"aH=7(2003) XL SE =
4,000,000,000& » 14 4,000,000
04 SLHERINU=ZSEE 2,500,000 0 2,500,000
OHZ"2A"aH=7(2003) X S &=
500,000,000& * 1A 500,000
OHS M= (2004) U LSH2
2,000,000,000& * 14 2,000,000
EHZ OHOI o=+ 500,000 650,000 A 150,000
311 XL S0IRH&E 500,000 650,000 A 150,000
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D ALE I A ALD
P MRES(ALN)(+SHUNS/E2)
2HNE (S d 3
= — Al L=
2 2AH - B S9(3) - IRAY - BES ofl &t e HIDE2
02 Al -2« AXNSHEI I SXL SO0l Atatet 400,000 400,000 0
OEHZS"0H0I" =01 = 72 (2004) Xt & S 0| &t
400,000,000& = 14 400,000
04 SLERXYS0IAtae 100,000 250,000 150,000
OEHZS"0H0|" =01 = 72 (2003) Xt & S 0| &t
100,000,000 * 14| 100,000
2 Jre 400,000 400,000 0
311 AHAS0lAratet 400,000 400,000 0
02 Al -2 - FXGINLI =SS0l AHat &t 400,000 400,000 0
OZguIte X+ =01X+  400,000,0008 * 14 400,000
gZE IC g2t2 0lktae 400,000 0 400,000
311 AL =S0lAretet 400,000 0 400,000
02 Al -2 - FXGHLI =SS0l A&kt 400,000 0 400,000
O g2EIC HZE2E XUHLS0IXR
400,000,000& = 14 400,000
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A= HEEE= A ¢ Ht2tel ot
BB Mo & ML O BBEALOE /T - 2129)
Sl Tt LRl S22 st (e @
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
308 AXIHMSOIA 2,400 2,400 0
05 MXEHIESE= 2,400 2,400 0
OABTERLEY SAHl 23
2,400,000& * 14! 2,400
SIHHHHE Set=d 1,420 18,000 A 16,580
201 e 1,420 13,469 A12,049
01 AtSZelt| 1,420 13,469 A12,049
OsdEEsE & A7
1,000,000& * 14 1,000
O2dEIL 24 7,0008 * 30 = 24 420
Moo 2els=A2sAle 23| 6,500 6,000 500
202 0ddl 5,000 4,500 500
01 =U0bI 5,000 4,500 500
O 2els=E2stAte 0l
5,000,000& » 14! 5,000
203 HR=&H| 1,500 1,500 0
03 AIRF=AHR2FAH| 1,500 1,500 0
O 22| AR F= A 1,500,000& * 14! 1,500
2B 2= 3,358,280 2,326,680 1,031,600
s 1,517,000
< 307,600
Al 1,533,680
oHMEt XYM = 179,880 208,300 N28,420
101 @1AH| 9,980 10,000 A20
10 JIZtN22HsSE+ 9,980 10,000 220
Ol s Ry 9,980,000& * 14 9,980
201 LErH2&H| 95,200 125,050 A29,850
01 AtSZeltl 55,600 82,700 A27,100
Oget==&H| 8,000
oloiti® E2=2 N 4,000& = 5005 2,000
oA =FE TA Q14
20,000& = 1005 2,000
oo & BAE AZS
1,500,000& * 14 1,500
oMolE=s=+ AL 2,500,000& * 14 2,500
O=&l 15,600
CSHS MotH 22X 24
15,600,000& * 14! 15,600
OYxt= 32,000
oML THOHCHEl S&dl Xt
500,000& * 4CH = 102 20,000
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AL ST
THOH 2 T Ol (BBEAML O/ - el
Bl

708,000

= - — N L=
2. 2A - FH . ER(ED) - NRAY - BES 0l b e Rz
o5Hs M2 S&EH| 2xt
500,000 = 6CH * 4 12,000
02 33244l 39,600 42,350 22,750
Os32= % MAl 1,000
S =] 1,000,000& * 13 1,000
(OZNF=FSi=IEsIN]] 38,600
oMol &HI= Xl 3,000,000& * 14! 3,000
oMol &Hl==hl 4,000,000 * 14 4,000
ALY U FIUSTAIAY
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201 LEr23H| 26,500 33,500 A7,000
01 AtR22lt| 26,500 33,500 A7,000
Oget==EH| 23,000
cEXNSYEEEY RAE=+
23,000,000 * 14! 23,000
Oo=2g+d 3,500
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A= dusz= SN BB AR SR
B RIS\ HRE(REUN WL/ NAREA)
SR TAIDIEAIE GIS DB = (eto: &)
.24 HB - G9(S) - ARAY - BES ofl &t e HIDE2
SN=LeHEl sl BAxY
70,0002 * 10¥ * 53 3,500
T AIJIEHAIE GIS DB = AIE I 6,300 4,500 1,800
202 044l 6,300 4,500 1,800
01 =WHHI 6,300 4,500 1,800
OXelE2Ae H2Fd 6,300,0008 * 14| 6,300
HY2EZHI(SH=2HN L ARG =R ) (J1EHIIEL) 31,667 27,700 3,967
el 2| 3,000 3,000 0
el 2| 3,000 3,000 0
203 g4l 3,000 3,000 0
04 FAE2IERFAH 3,000 3,000 0
ORAN=23HRFA 250,000& » 12 3,000
=3l 28,667 24,700 3,967
J122ZH 28,667 24,700 3,967
201 Ler2 | 24,217 20,200 4,077
01 AR 2t2Ibl 24,277 20,200 4,077
Odet+=ZH| 20,677
o HIMNFESSHI 11,377,000& » 14 11,377
oAREEAMAYHI 1,500,000& = 14 1,500
o ANREHIAEXZ 150,000& * 12& 1,800
o4 =&H| 500,000& * 123 6,000
OF=F={=] 3,600
o) 2URd SA| 300,000& * 12 3,600
202 OH| 4,390 4,500 AT110
01 =Wl 4,390 4,500 A110
OJ = 2+8oil 4,390,000& * 14| 4,390
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